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 BECC-133  

BACHELOR OF ARTS (GENERAL) 

(BAG) 

Term-End Examination 

December, 2021 

 

BECC-133 : PRINCIPLES OF MACROECONOMICS 

Time : 3 hours Maximum Marks : 100 

Note : Attempt questions from each section as per 

instructions.  

 

 SECTION A 

Answer any two questions from this section in about 

500 words each. 220=40 

1. Bring out the important features of classical 

approach to macroeconomics. Why did it fail to 

explain the Great Depression ? Explain.  

2. Explain how there is circular flow of income and 

output in a three-sector economy. Draw an 

appropriate diagram. 

3. What are the functions of money ? Describe 

different measures of money supply. 

4. In the Keynesian framework, describe how 

equilibrium output is determined in an open 

economy. Draw appropriate diagram. 
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 SECTION B 

Answer any three questions from this section in about 

250 words each. 310=30 

5. Explain the concept of investment multiplier, 

with an appropriate illustration.  

6. Define the concept of national income. How is it 

obtained from Gross Domestic Product (GDP) ? 

Explain.  

7. Calculate Net Domestic Product at Factor Cost 

(NDPFC) from the following data : 

 Items   < (Crore)  

i. Purchase of raw material 300 

ii. Depreciation  120 

iii. Sales  2,000 

iv. Excise tax 200 

v. Opening stock 150 

vi. Intermediate consumption  480 

vii. Closing stock 100   

8. Explain the concepts of Average Propensity to 

Consume (APC) and Marginal Propensity to 

Consume (MPC). 

9. What is meant by monetary policy ? What are its 

objectives ?  
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SECTION C 

Answer both the questions from this section. 215=30 

10. Distinguish between any three of the following : 

(a) Aggregate Consumption and Aggregate 

Demand 

(b) Gross Domestic Product and Gross 

National Product 

(c) Repo Rate and Reverse Repo Rate  

(d) Cash Reserve Ratio and Statutory 

Liquidity Ratio 

(e) Capital Account and Current Account   

11. Write short notes on any three of the following : 

(a) Balance of Payments 

(b) Invisibles in International Trade 

(c) Hot Money  

(d) Money Multiplier  

(e) Double Counting  
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 ~r.B©.gr.gr.-133  

H$bm ñZmVH$ (gm_mÝ`) 
(~r.E.Or.) 

gÌm§V narjm 

{Xgå~a,  2021 

~r.B©.gr.gr.-133 : g_{îQ> AW©emñÌ Ho$ {gÕm§V 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> :  {ZX}emZwgma àË òH$ ^mJ go àíZm| Ho$ CÎma Xr{OE & 
 

^mJ H$ 

Bg ^mJ go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| (àË`oH$) 
_| Xr{OE &  220=40 

1. g_{îQ> AW©emñÌ _| Šbm{gH$b Ñ{îQ>H$moU H$s _hÎdnyU© 
{deofVmE± ñnï> H$s{OE & _hm_ÝXr (Great Depression) 

H$s ì`m»`m H$aZo _| Šbm{gH$b Ñ{îQ>H$moU (Classical 

Approach) Š`m| Ag\$b hþAm ? g_PmBE &  

2. EH$ VrZ-joÌr` AW©ì`dñWm _| Am` Ed§ CËnmXZ H$m d¥Îmr` 
àdmh (Circular flow) H¡$go hmoVm h¡, g_PmBE & EH$ 
C{MV AmaoI ~ZmBE &  

3. _wÐm Ho$ H$m`© Š`m h¢ ? _wÐm Amny{V© Ho$ {d{^Þ Cnm`m| 
(measures) H$m dU©Z H$s{OE &  

4. H$sZrµO`Z V§Ì _|, EH$ Iwbr AW©ì`dñWm _| g§Vw{bV 
CËnmXZ H$m {ZYm©aU H¡$go {H$`m OmVm h¡, dU©Z H$s{OE & 
C{MV AmaoI (diagram) ~ZmBE &  
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^mJ I  

Bg ^mJ go {H$Ýht VrZ àíZm| Ho$ CÎma bJ^J 250 eãXm| 
(àË`oH$) _| Xr{OE & 310=30 

5. {Zdoe JwUH$ (investment multiplier) H$s AdYmaUm 
H$mo Cn`wº$ CXmhaU Ûmam g_PmBE &  

6. amîQ´>r` Am` (national income) H$s AdYmaUm H$s 
n[a^mfm Xr{OE & amîQ´>r` Am`, gH$b Kaoby CËnmX (GDP) 

go H¡$go àmá H$s Om gH$Vr h¡ ? g_PmBE &  

7. {ZåZ{b{IV Am±H$‹S>m| go CnmXmZ bmJV na ewÕ Kaoby CËnmX 
(NDPFC) H$s JUZm H$s{OE :  

 _X| (Items) < (H$amo‹S>) 
i. H$ƒo _mb H$m H«$` (Purchase of 

raw material) 
300 

ii. _yë`õmg (Depreciation) 120 

iii. {~H«$s (Sales)     2,000 

iv. CËnmX H$a (Excise tax) 200 

v. àma§{^H$ _mb (Opening stock) 150 

vi. _Ü`dVu Cn^moJ (Intermediate 

consumption) 
480 

vii. A§{V_ _mb (Closing stock) 100 

8. Am¡gV Cn^moJ àd¥{Îm (APC) Ed§ gr_m§V Cn^moJ àd¥{Îm 
(MPC) H$s AdYmaUmAm| (concepts) H$s ì`m»`m  
H$s{OE &  

9. _m¡{ÐH$ Zr{V go Š`m VmËn`© h¡ ? _m¡{ÐH$ Zr{V Ho$ CÔoí` Š`m 
h¢ ?  
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^mJ J  

Bg ^mJ go XmoZm| àíZm| Ho$ CÎma Xr{OE & 215=30 

10. {ZåZ{b{IV _| go {H$Ýht VrZ  _| AÝVa ñnï> H$s{OE :  

(H$) g_J« Cn^moJ (Aggregate Consumption) Ed§ 
g_J« _m±J (Aggregate Demand)  

(I) gH$b Kaoby CËnmX (Gross Domestic Product) 
Ed§ gH$b amîQ´>r` CËnmX (Gross National 

Product) 

(J) nwZI©arX Xa (Repo Rate) Ed§ {dnarV nwZI©arX Xa 
(Reverse Repo Rate)   

(K) ZH$X [aµOd© AZwnmV (Cash Reserve Ratio) Ed§ 
d¡Ym{ZH$ VabVm AZwnmV (Statutory Liquidity 

Ratio) 

(L>) ny±Or ImVm (Capital Account) Ed§ Mmby ImVm 
(Current Account)  

11. {ZåZ{b{IV _| go {H$Ýht VrZ  na g§{já {Q>ßn{U`m± 

{b{IE :  

(H$) ^wJVmZ g§VwbZ (Balance of Payments)  

(I) AÑí` AÝVam©îQ́>r` ì`mnma (Invisibles in 

International Trade) 

(J) hm°Q> _wÐm (Hot Money)   

(K) _wÐm JwUH$ (Money Multiplier) 

(L>) Xmohar JUZm (Double Counting)  

 


